Evaluate the Composition of Functions with Graphs Name

Target 1: | understand how to evaluate composite functions using a graph.

1. Thegraphsof y= f(X) and y = g(X) are shown in the graph below.
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Approximate the value of g ( f (0)) .
9(f(0)=9(2)=-5

2. Thegraphsof y= f(Xx) and y = g(X) are shown in the graph below.

100 -8 B4 A

Approximate the value of f (g(l)) .

f(g(1)=9(-3)=3



Target 2: | understand how to sketch graphs of composite functions.

3. The graph of Y =g(X) is how in the graph below. Sketch the graph of y = g(X+4)—2 on the same grid.
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4. The graph of y = g(X) is how in the graph below. Sketch the graph of Yy =g(X—1)+ 2 on the same grid
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Understanding function notation (Coomes) Name Key

Target 3: | understand the meaning of function expressions as related to the graph.
5. The graph of a function is shown below. Would you label the graph f, y = f(x), or f(x)?

All are found in texts, AP tests, etc. The most formal form is
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6. Find f(—=2)and f(1). lllustrate the meaning of f(—2)— f (1) on the graph below.

2 _2nt
/
\ /
\l . /
20\
\ /
BT R ‘ z
R
f(=2)-f(@)

7. llustrate the meaning of on the graph below.
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8. A point on the graph is labeled (X, f (x)).

e Label a second point (X+2, f(X+2))and
e lllustrate the meaning of f(x+2)— f(X).
f(x+2)—f(x)

e lllustrate the meaning of

X+2-X
3 The slope of the secant line between (x, f (x)) and (x+2, f (x+2)):
\ , Fx+2) - (0 f(x+2)-f(x)
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9. A point on the graph is labeled (X,  (X)).
e Label asecond point (X+h, f(x+h))and
e lllustrate the meaning of f(x+h)— f(X).
. f(x+h)—f(x)
o lllustrate the meaning of .
X+h-x
\ ixcthlioa The slope of the secant line between (x, f(x)) and (x+h, f (x+h)):
\ f(x+h)—f(x) _ f(x+h)-f(x)
X+h-x h
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10. A point on the graph is labeled (X, f (X)).



‘ . f(x+h)-f(x)
e lllustrate the meaning of lim )
h>0  Xx+h-x
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